[ Efficiency vs vertpos |
~ 0.7
£0.09
2
2,0.08
(&)
$0.07
3]
£0.06
0.05,
0.04
0.03
0.02
0.01

q

0.8

L

L

tary

"

Ratio

LI USRS B LLARD RRRE RRREN LAARN RAARE LMUAE ARV RE 20N LARAN RARES

0.6

107 1

=
2
N

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

~ 0.1

L (R SRS S S S

o F
>0.08F
> o
LC) E
$0.07F
o E
£ 0.06F
o E
0.05F
0.04F
0.03F
0.02F
0.01

0

Ratio
=

0.9

==
.
| "

°85 =30 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> E E E E E

0. 0.18F - preyees priyeees AR
S . : : : :
T e A
| T S R S
> . . . .

20.12

.............................................

efticie

015_ . . . . .
O 1 e % ------ HE SEE SIS
0.06 %Eﬁﬁ;iﬁ **;# TR REE

0.04f--i-mmmeee e Pooeeens 13 ERRRRRRRRREED

o

9
9,

0.02F -+ -eeeeeeeeees R HSRREE SRR
Y S I B |
% E + o o
x 1= 1T
o T |
0.95F-- -
o 4
10

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


